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IE {3 K % ouT I N TOTAL] HDCP NET
A ECEES 61 50 111 33.6 77.4
e B ESS 56 57 113 33.6 79.4
3 fiz| K 864 49 57 106 26.4 79.6
4 | LA FE 55 61 116 36 80
5 ] WIRE 61 52 113 32.4 80.6
B-B|l HEX 62 75 137 36 101
40iF K DEB
IE {3 K % ouT I N TOTAL] HDCP NET
&l EEEE 48 43 91 16.8 74.2
Ep Ian—5 48 44 92 16.8 75.2
3 fiz| AEP M 54 58 112 36 76
4 fz| HEBEX 55 50 105 28.8 76.2
5 | BhH 53 52 105 28.8 76.2
B-B| <H#E 60 73 133 36 97
505F% K DEB
IE s K % ouT I N TOTAL] HDCP NET
& | M= 45 55 100 27.6 72.4
e R 42 48 90 16.8 73.2
3 fu| @B A 56 46 102 27.6 74.4
4 fz| KA #H#HE 48 46 94 19.2 74.8
5 ]| £ Ei 49 51 100 25.2 74.8
B-B| HLEIH 57 62 119 31.2 87.8
605F X DEB
IE {3 K % ouT I N TOTAL] HDCP NET
& m| EEEA— 43 40 83 12 71
e L 56 50 106 33.6 72.4
3 fiz| FEH s 46 45 91 18 73
4 G| k4R BZ 43 43 86 12 74
5 | A BRI 43 49 92 18 74
B-B| k& 62 58 120 33.6 86.4
70 - 80REIXDER
IE s K % ouT I N TOTAL] HDCP NET
& | #LIE=E 50 50 100 27.6 72.4
e B 41 40 81 8.4 72.6
3 fiz| E 40 44 84 10.8 73.2
4 fr| G E 49 46 95 21.6 73.4
5 | Z=BF ¥R 46 40 86 12 74
B - B| &% #BEA 67 60 127 36 91




